
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

4개의분수, 소수, 연산순서

4.7 − + 2 × 3.2 =
5
2

4.6 − × 2 + 20 × ÷ 4 =
2
1

4
3

− 5.8 × 5 + =
2
3

2
3

+ 5.7 × 2 − =
4
3

3
1

+ × 5 + =
2
3

2
1

3
1

+ 15 × 4.7 ÷ 3 − 3 × 4 =
2
1

2.1 − × 5 − 12 × 5.9 ÷ 3 =
5
3

− 8 × ÷ 4 + 2 × =
3
1

4
3

2
1

2.8 + 2.5 × 5 − =
2
1

+ × 5 + 5.5 =
6
1

4
1

www.snowmath.com

https://www.snowmath.com


이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

4개의분수, 소수, 연산순서

4.7 − + 2 × 3.2 = = 10
5
2

10
107

10
7

4.6 − × 2 + 20 × ÷ 4 = = 7
2
1

4
3

20
147

20
7

− 5.8 × 5 + = (−26)
2
3

2
3

+ 5.7 × 2 − = = 11
4
3

3
1

60
709

60
49

+ × 5 + = = 4
2
3

2
1

3
1

3
13

3
1

+ 15 × 4.7 ÷ 3 − 3 × 4 = 12
2
1

2.1 − × 5 − 12 × 5.9 ÷ 3 = (− ) = (−24 )
5
3

2
49

2
1

− 8 × ÷ 4 + 2 × = (− )
3
1

4
3

2
1

6
1

2.8 + 2.5 × 5 − = = 14
2
1

5
74

5
4

+ × 5 + 5.5 = = 6
6
1

4
1

12
83

12
11

www.snowmath.com

https://www.snowmath.com

